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Instructzons to Candzdates

1.

2.

Write your Register Number ‘within the box provided on the top of this page and
fill in the page 1 of the answer sheet using pen.

Do not write your name anywhere in this booklet or answer sheet. Vlolatwn of

'thlS entazls dlsquahﬁcatmn
‘Read each of the question carefully and shade the relevant answer (A) or (B) or

(C) or (D) in the relevant box of the ANSWER SHEET using HB pencil.

Avoid blind guessing. A wrong answer will fetch you ~1 mark and the correct
answer will fetch 4 marks. '

Do not write anything in the question paper. Use the white sheets attached at the
end for rough works.

Do not open the question paper until the start signal is given.

Do not attempt to answer after stop signal is given. Any such attempt will
disqualify your candidature.

On stop signal, keep the question paper and the answer sheet on your table and
wait for the invigilator to collect them.

Use of Calculators, Tables, etc. are prohibited.
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SECTION A — ENGLISH COMPREHENSION

Rearrange the following group of sentences in the proper sequence g0 as to form a
meaningful paragraph and then answer the questions given below them. . -

(I) It should eschew the yellow journahsm or sensationalism.
(II) - Freedom and responmblhty go together.

(III) It must exercise its freedom that public good is maximized.
(IV) The press must enjoy freedom consistent with public good.
(V) -There should not be abgolute freedom.

Questions

Which sentence would come third in the sequence?
(A) I (B) II (C) III D) IV

Which sentence would come first'in the sequence?
@a 1 ® 1I (C) I (D) IV

Which sentence would come last in the sequence? |
A I ® I (€) I DIV

Which sentence would come fourth in the sequence?
Aa I . B I - (C) III (D) IV

Select a word similar in meaning to the key word.

Beckon .

(A) Light (B) Beg (C) Motion (D) Hear
Abomination

"(A) Criticism  * (B) Disgust (C) Revulsion (D) Avoid
Spasmodic . _ . :

(A) Spontaneous (B) Gradual . (C) Intermittent (D) Contin_uous_
Eﬁtangle )
(A) Perplex . (B) Trap (C) Confuse (D) Console
Allure _

(A) Repel (B) Scare . (C) Tempt (D) Sleepy



Seléct a word opposite in meaning to the key word.
10. Condense _
(A} Distribute (B) Expand (C) Leﬁgthen (D) Interpret
"11.  Ameliorate |

(A)‘ Lessen (B) Hasten (C) Expedite (D) Worsen

12. Naive |
(A) Wealthy (B) Cunhing .(C)' Sophisticated (D) Natural

Give one word for the following
13. The original inhabitants of a country.
(A) Aborigines (B) Citizens (© Natives (D) Primitives
14. To examine one’s own thoughts and feelings. |
(A) Reflection (B) Reminiscent (C) Meditation (D) Introspection
15. 'The study of ancient societies. | |
(A) History  (B) Anthropology (C) Ethnology (D) Archaeology
Fill in the blanks with suitable words |

16. The witness was asked to present & --eeemeemee- gtatemenit.

(A) . Veracious ! (B) Vdi'acioﬁs | (C) Garrulons (D) Tacitum
17. He knew thﬁt social evils wére only .......... of deepér maladies.

(A) Indications o (B) Cause

(C) Consequenceé _ o (D) Manifestations
18. Freedom and equality aré the....... NSy rights of every human being.

(A) Inalienable (B) Institutional (C) Insufferable (D) Inscrutable
Spot the errors in the following sentences.
19. .Ten miles / is/ a long way / to walk / No error
w ® o » ®

20. Bad habits / must be / nipped/ at the bud / No error
(A (B) (%) - D (E)
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21.

22,

23.

*

Fill in the blanks with the appropriate Question Tag (@ Nos. 21 and 22)

They do not often see films,-—------==smemmmmv-

(A)  did they? (B) shallthey?  (C) do they? (D) None

I am right,~-------=sn----- |

(A) amI? (B) amn't I? (© arent1? (D) aren’tyou?

One of the following sentences is not correct; find it.
(A) They are planning to have a discussion.

(B) A novel is being wriften by him.

. (C) She is having a new pen.

- (D) Having completed the work, Rani left the office.

24,

25.

Give the correct form of the verb ‘study’ in the following sentence.

The diplomat............... Hindi for two years before he came to India.
_ (A) studied (B) would study (C) had studied (D) was studﬁng
Use the right preposition. |
We have not seen him ---------f-;---- a month. '
(A) since (B) for  (© about . o

26.

SECTION B — ARITHMETIC ABILITY

In a circle of radius 5 cm, AB and CD are two parallel chords of lengths 8 cm and 6 cm
respectively, the distance between the two chords, if they are on the opposite sides of

the centre, will be.... '

217.
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(&) 8em ® 7Tem (©) 9em (D) 6 em

A train covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hr
more, it would have taken 30 minutes less for the journey. The original speed of the

‘train was...

(A) 55 kmph (B) 45kmph . (C) 30kmph (D) 60 kmph_ |



28.7
29.
30.
31.

32.

33.
34,
35.

36.

In an examination one of the two candidates got 30% of the total votes polled, but he
lost by 210 votes. What was the total number of votes polled?

(A) 240 (B) 525 (C) 610 . (D) 520

Pipe A can fill a tank in 30 hours and pipe B in 45 hours. If both pipes are opened in -

the same empty tank, how much time will it take to fill it?

{A) 12 hours (B) 9 hours (C) 18 hours (D) 16 hours

A wire is bent in the form of a circle of 56 ¢cm radius. The wire is opened and bent to _
form a square. The side of the square will be -----

(A} 16cm (B) 88cm (C) 44em | D) 56 om

The room is 15 feet long and 12 feet broad. A mat has to be placed on the floor of thls
room leaving 1 % feet space from the walls. The area of the mat will be ..

" (A) 135sqft. (B) 108 sq ft. | (C) 180 sqft. (D)141.75 sq ft.

Father is aged three times more than his son Ronit. After 8 years, he would be two
and a half times of Ronit's age. After further 8 years how many times would he be of
Ronit's age? .

(A) 2times  (B) 2% times (C) 2%times (D) 3 times

A father said to his son, "I was as old as you are at the present at the time of your
birth". If the father's age is 38 years now, the son's age five years back was:

B 29 ® 14 - (© 88 (D38

The sum of the present ages of a father and his son is 60 years. Six years ago, father's
age was five times the age of the son. After 6 years, son's age will be:

@) 12 B 14 O © 18 (D) 20

A takes twice as much time as B or thrice as much time as C to finish a piece of work.
Working together, they can finish the work in 2 days. B can do the work alone in:

A) 4 (B) 6 © 8 D) 12

A works twice as fast as B. If B can complete a work in 12 days mdependently, the

' number of days in which A and B can together finish the work in:

@ 4 ® 6 © 8 (D) 18
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38.

39.

40.
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45.
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Find the ratio in which rice at Rs. 7.20 a kg be mixed with rice at Rs. 5.70 a‘kg to
produce a mixture worth Rs. 6.30 a kg.

(A) 1:3 (B) 2:3 (C) 3:4 (D) 4:5

A merchant has 1000 kg of sugar, part of which he sells at 8% profit and the rest at
18% profit. He gains 14% on the whole. The quantity sold at 18% profit is:

(A) 400 - (B) 560 (C) 640 (D) 600

A train can travel 50% faster than a car. Both start from point A at the same time
and reach point B 75 kms away from A at the same time. On the way, however, the
train lost about 12.5 minutes while stopping at the stations. The speed of the car is:
(A) 100 kmph (B) 110 kmph (C) 120 kmph (D) 130 kmph

Excluding stoppages, the speed of a bus is 54 kmph and inéluding stoppages, it is 45
kmph. For how many minutes does the bus stop per hour?

@ 9 (B) 10 © 12 (D) 20

A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to charity

.and A's share is Rs. 855, the total profit is:

(A) Rs. 1425/— (B) Rs.1600/- (C) Rs. 1500/- (D) Rs. 1576/-

Three pari:ners shared the profit in a business in the ratio 5 : 7 : 8. They had
partnered for 14 months, 8 months and 7 months respectively. What was the ratio of
their investments?

(A) 5:7:8 (B) 20:49:64 (C) 38:28:21 (D) None of these
How many times in a day, the hands of a clock are straight?

(A) 22 | (B) 24 © 4 (D) 48

A and B together have Rs. 1210. If 4/5th of A's amount is equal to 2/5t of B's amount,
how much amount does B have"

(A) 460 (B) 484 (C) 550 (D) 664

Two numbers are respectively 20% and 50% more than a third number. The ratio of
the two numbers is: '

@) 2:5 ®) 3:5  (©) 4:5 D) 6:7
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417.

48.

49.

50.

51
52.
53.
54,

65.

56.

A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is
4 km/hr, find the time taken by the boat to go 68 km downstream.

(A) 2 B) 3 €y 4 (D) 5

A man purchased a cow for Rs. 3000 and sold it the same day for Rs. 3600, allowing
the buyer a credit of 2 years. If the rate of interest be 10% per annum, then the man

has a gain of...

(A) 5 ' ® .7 T 15 (D) No gain
It wasl Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?
(A) Sunday (B) Saturday (C) Friday (D) Wednesday

At what time between 4 and 5 O’ clock will the hands of a watch point in opposite
directions?

(A) 45 min. past 4 : | (B) 40 min. past4
(C) 50 4/11 min. past 4 (D) 54. 6/11 min. past 4
The-_average of fouf consecutive even numbers is 27. The largest of these numbers is:
(A 36 - (B) 32 © 30 (D) 28
| SECTION C — LOGICAL REASONING

Directions (Qs 51 to 54); In the following questions ﬁhere are four groups of Letters
in which three are alike in some way. Find out the group which is different.

(A) IBCD (B) UFGH (C) ORQP (D) EKLM

(A) KLLM (B) XXXZ (€) TUUV. (D) OPPQ
(A) ALERTED  (B) REPEAT (C) CREATE (D) CHEAT
(A) ACEGI (B) BDFHJ .(C) SUWYA (D) LINPR

Directions (Qs 55 to-59): Find the number that comes next in the sequencé

10, 4, 14,18, 32,............

(A 40 (B) 50 () 48 (D) 52
7.9.13,19,....... |

A) 27 (B) 21 (¢ 31 (D) 23



57.

58.

59.

60.

61.

62.

63.

64.

65.

32,27,30,29,28,31.........

@) 3¢ ® 38  (© 26 D40

6,18,3,21,7,56........

A 8 . . ® 6. © 9 (D) 63
165,195,255,285....... | _ ‘ |

&) 310 ®) 25 . (©) 345 D) 225

Pointing to a boy in a photo.graph Akhil says “He is the only son of my mother’s

‘son’s only son.”How is Akhil related to that boy?

_(A)- Uncle (B) PBrother ) Father D) Coﬁsin

Three of the follomng are alike in a certain way and so form a group.Which is the one
that does not belong to the group?

(A) LISTEN (B) FEEL (C) THINK (D) SING

In a certain code language GEQ-PHYSICS is written as IOPDHZRJBT.How is
ALTIMETERS written in that code? '

(A) NHULBFSDQT (B) NIUKBFSDQT
(C) NHUKCFSDQT (D) NHUKBFSEQT

How many such pairs of words are there in CREDIBILITY each of which have as
many letters between them in the word as also in the alphabet?

(A) One (B) Two

(C) Three (D) More than three

Bullet is to Rifle as Arrow is to |

(A) Archer ‘ (B) Bow (C) Target (D) Cord

Museum is related to * Curator in the same way as Pnson is related to

(A) Warden (B) - Monitor . - (C) Manager . (D) Jailor

' Directions(Qs 66 to 70):Find the missing term in the series

66.

383

B,D,G, K, P?
@A) S ®) V " © T D)W



67.
68.
69.

70.

71.

2.

73.
74,

75.

ADG, HKN, ?

(A) ORU {(B) ‘VXZ (C) JLN (D) BEG

C4X, F9U, 116R, ?

(A) L25P (B) L250 (C) L27P - (D) None of these

"~ EJOT, DHLP, CFIL, ?

(A) BDFH (B) HLM - (C) DEWI (D) DGKL
AZ,CX,FU,?
A KP - B JQ ©) IR DIV

Read the following paragraph and answer the questions given below it.

There are four friends Anil,Sushil, Raju and Haﬁsh. One of them is a cricketer and |

- studies Chemistry and Biology. Anil and Sushil play Football. Anil studies Commerce.

Both the Football players study Mathematics. Harish is a Boxer. One Football player
also studies Physics. The Boxer studies Mathematics and Accountancy All the friends
study two subJects each and play one game each.

Who is a cricketer?

(A) Anl - (B} Raj ~ (0) Sushil (D) Harish

Who does not study Mathematics?

() Raj o | (B) Harish

(C) Both Rajand Harish - (D) Anil

"Who studies Physicg? |

(A) Anil (B) Sushil (C) Raj (D) Harish -

Who studies Commerce and play. Football?
(A) Anil '~ ® Sushit = (C) Raj (D) Harish

Name the person who is not Boxer,but studies both Chemistry and Biology

(A) Anil (B) Sushil (C) Raj | (D) Harish
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78.
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80.
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82.

SECTION D — GENERAL AWARENESS
Acronym ICAO popularly stands for

(A) International Civil Administrators’ Organisation

(B) International Civil Aviation Organisation

(C) Indian Civil and Administrative Organisation

(D) Organisation for Cost and Accounts of India

Jog waterfall, the highest waterfall in India is located in which state.

(A) Kerala : (B) Karnataka _

(C) Maharashtra (D) Madhya Pradesh

Which of the following passes through India? |

(A) 0 degree longitude ' (B) Equator

(C) Tropic of Capricorn (D) Tropic of Cancer

Suez navigation canal connects Mediterranean sea with the:

(A) Pacific sea f (B) Redsea

(C) BlackSea (D) Atlantic ocean

Mc Mohan line is the boundary between-India and :

(A) Pakistan  (B) Bangladesh

(C) China . . (D) Srn Lankak

dJ agannéf;h Rathyatra is n annual event associa;._ted with the following place
(A) Konark (B) Gurﬁvayur (C) Puri . (D) Tirupati -

‘Palace on Wheels’ is the name of

" (A) Luxuary Tourist Train (B) English movie

83.
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(C) Palace with Wheels (D) M.F.Hussain Paintings
Who has designed the national flag of India?

(A) . Ravi Varma | (B) R.K. Laxman

©) .Ping_ali Venkaiah | (D) MahatmaGandhi

10
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- 90.

91.

92.

In which State Brindavanam Garden was located? _

(A) Kerala (B) Karnataka  (C) Tamilnadu (D) Maharashtrg |
Name the private airline of India which has recently started internatiqnal 6pération;
(A) Spicejet (B) Kingfisher (C) Paramﬁunt (D) Jet airwasrs-
“Ginger” chaih of budgef hotels belongs to

(A) Oberoigroup (B) Tata éroup (C) ITC group (D) TTDC

Who is the founder of India’s first low cost airline “Air Decan”?

(A) Captain Gopinath (B) Vijay Malya |

(C) Deveshwar ‘ (1)) Shiv Nadar

‘Golden Triangle’ is widely referred to denote:

(A) | Three important tourist destinations (B) ‘a,logo made of gold

(C) a gold necklace | (D) a religious place in Punjab

Who headed the ¢ knowledge commission’ which has recently commended sweeping

changes in the higher education sector of India?

(A) Jairam Ramesh “(B) Rahul Gandhi

(C) N.R. Narayana Murthi (D) Sam Pitroda

Indian School of B'i:lsil_less at.Hyde_rabad offers an MBA programme of

(A) Two years (B) Five Years ~(C) One year (D) Three years
Who is the Union Minister of Tourism?

(A) Renuka Chowdhary (B) Ambika Soni

(C) Margaret Alwa (D) Sheela Dixit

. Proposed ‘Sethusamudram project’ is associated with

(A) Indian Ocean ' (B) Bay of Bengal
(C) Arabian Sea (D) RedSea
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‘Kumbha mela’ is a massive event of human congregation that haﬁpe’n_g once in
(A) Five years (B) Ten years |
(C) Twelve years o | (D) Fifteen years

‘Disneyland’ is a famous amus_erﬁent park located in

(A) Switzerland  (B) Australia (C) UsA (D} Gern;any By
Which city of India is known as the Pink City?

(A) Mysore (B) Jaipur (C) Jodhpur (D) Udaypur

Sahara Airlines are taken over by

(A) Paramount Airways (B) Air India

() Singapore Airlines (D) Jet Airways

Which Indian batsman in Indian Test cricket scored 300 runs twice?

(A) Kapil Dev _ (B) Dilip Sardesai

(C) Sachin Tendulkar (D) Virendra Sewag

. FEDEXPRESS is the name of a famous

(A) US courier company ' (B) Trav-el Company

(C) Long distance train (D) Movie

. Ajantha and Ellora caves are in

(A) Andhra Pradesh ' (B) Tamilnadu
(C) Maharashtra (D) Gujarat
‘_Bekal Fort’ is located in the state of

(A) Kerala - (B) Tamilnadu

(C) Rajasthan ' (D) Andaman and Nicobar islands
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